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binomial distribution
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maximum likelihood estimation for binomaial distribution

00000000 000OO0oOoooooo (MLE)

« 0000 L(¢|00D)0D00000D00O0OOD ¢qOODOO
gooogo

«0000lgLq|0DD0)DO
¢000000 0000 §
ogoooooo
dlogL(g | 00O0O)/0g=0

e 00O gL OOOODOO
gbobooooooboo
oo
goooo 73

o000 160

log likelihood
t%5 -10

-50
1

q= =0456000

kubo (http://goo.gl/T6c4i) 0000000000 (2) 2018-01-24 8 /81

Ooo0o0OD0O MCMCOOOOOO “Sampling” using Monte Carlo Markov Chain method

2. 00000 MCMCOOODOO

“Sampling” using Monte Carlo Markov Chain method

ooooo McMCcoooo!

kubo (http://goo.gl/T6c4i) 00ooO0ooooo (2) 2018-01-24 10 /81

00000 MCcMCOODOOOO “Sampling” using Monte Carlo Markov Chain method
An example for MCMC

MCMC O0O0O0O0oooooog

gooooooooo O00: 00000000

log L(q) oo
‘

2 o %0,

37 hl & %
3 3 °
£, — £,
2¥7 ERa
> o
-3 °
B 2]

0.3 0.4 0.5 0.6 0.3 0.4 0.5 0.6

gboooooogooo
gbod qbooobooo

(00Do0Doooooooooon)

kubo (http://goo.gl/T6c4i) 00OO0O0O0oooo (2) 2018-01-24 11/ 81

kubo (http://goo.gl/76c4i)

0ooooooooo (2) 2018-01-24 12 /81




kubostat2017z p.3

00000 McMCOOOOODO “Sampling” using Monte Carlo Markov Chain method 00000 MCcMCOOOOODO “Sampling” using Monte Carlo Markov Chain method

ododddd ¢ 0bobbooon Oo0o0oOooopoood:. Oooooon

[]D[]D[]E[]D[]D[]D[]D[iD[]D[]D e000000 ¢q0OOD0DOD

o (0000 qOOO000 0.3)

Bl eqUUII0DODOOOOOOOOODOOO

EL\.’_ (—\—\—\—\ﬂﬂqﬂﬂﬂqngw—\—\—\ﬂﬂﬂ)

B’é_ ®q.. 000000 L(qnew)DDDDDD L(q)DDD

é ‘ ‘ ‘ ¢ L(gnew) > L(q) (0D0O0D000): q < Gnew

028 029 030 031 082 * Llgnew) < L(g) (O DOOOOD):
q ° T = new new

©¢00000000000000000000000000 00 7= Lignew)/Lo) D 2 4= g

e001-r04¢000000
el 2. 0000

(¢=0010 ¢=09900000000000000000)
0000O0O0O0oO (2) 2018-01-24 13 / 81 kubo (http://goo.gl/76c4i) 0000000000 (2) 2018-01-24 14 / 81

@ 0000000000000 00000¢0000N00000
® 000000000000 (1),(2) 000000

“Sampling” using Monte Carlo Markov Chain method “Sampling” using Monte Carlo Markov Chain method
ODO0O000O000O0O0O0DO gqoOoooO godoobbboooooooon ¢

= 0000000 (MOMC) 0000000 (000000 MCMC) O
¥ ©)
ol e g e 0000000
Be) w3 & S
£ 9w 3| o
$ g § 1¥e g_| s .,
VI T e s

1 T T T T T T T T
0.28 0.29 0.30 0.31 032 0.30 0.31 032 033 0.34 0.35 ‘ ' ' '

ooooooooooooogo?
g UDOO0DbOoobobooboonbooo

oooooooooa (2) 2018-01-24 15 / 81 oooooooooa (2) 2018-01-24 16 / 81
“Sampling” using Monte Carlo Markov Chain method “Sampling” using Monte Carlo Markov Chain method
[{e) ©
o] s
[Te) [Te}
o s
q N q ~
o o
- -
o o
: T T T T . goooooo q T T T T ooooooo q
20 40 60 g0 100 HOOOODOO 0 200 400 600 800 1000 HHOOOD
MCMC OOOOoOoOOoO MCMC OOOOOOO
gdooooooooooooooooo? gooo....?
ooooooooog (2) 2018-01-24 17 / 81 kubo (http://goo.gl/76c4i) 0ooooooooo (2) 2018-01-24 18 /81




kubostat2017z

p.4

“Sampling’ using Monte Carlo| Markov Chain method
Oo0o0oo0oo0ooOoOoOoOooOoObOnOn

oooooag
O¢gDOOD0ODOO
..... oooooo

LS
0.3 0.4 0.5 0.6

0000000 q
ooooooo

T T T 1
0 20000 40000 60000 80000
MCMC OOODODOO

ooooooooooooooooooooo?

kubo (http://goo.gl/76c4i)

oooooooooa (2) 2018-01-24 19 / 81

“Sampling” using Monte Carlo Markov Chain method
MCMC OOODOOOODOOO gO0OOOO

=)
=2
=3

0.05

0.00

00000000 (DODbOO)bOboOoOooMeMC O
ooooboooOdpeobooboooooooboon
oon

- 00000000 0DODOOOOeO0O0OO 9% 00
uoooboo—-oooooono!

kubo (http://goo.gl/76c4i)

oooooooooo (2) 2018-01-24 21 /81

MCMCOOOOO0OO0OO0O000 How to “sample” from posterior distribution

3. MCMCOODOOOCOOOODO

How to “sample” from posterior distribution

“Gibbs sampling” 000000000000 ......

kubo (http://goo.gl/76c4i)

ooooooooog (2) 2018-01-24 23 /81

“Sampling” using Monte Carlo| Markov Chain method
MCMC OO0O0O0OO0OO0OOOoOOoooaoz?

00 L(g) O
oooooooo

0000 log L(q)

-40

S

log likelihood
45

-50

gobooboogobooboooooboobooo

ooooooooooboooooooo
MCMCO “CO0000000O000” (~0000000)
0obooobooooo obobooboog

0000000000 (2)

kubo (http://goo.gl/76c4i) 2018-01-24 20 / 81

“Sampling” using Monte Carlo Markov Chain method
gooooooooon

gobooboooobooboooooboobooo
-.J0OUbobbobbooboobooboobon
goboobogobooooon

-.J0OUbobbobboobooboobonoobon
gboooob obooboboooboobooobobo

0000 plglY) OO0 Lig) 0000 pg)

0,10
3.97

2
X
]

0.05

0.00

T T T T T T T T
03 04 05 06 03 04 05 0.6 o0 02 04 06 08 10

oooo q
00oo0oo0ooo (2)

kubo (http://goo.gl/T6c4i) 2018-01-24 22/ 81

MCMCOOOOOOOOOO How to “sample” from posterior distribution

oooooooooooo MecMcooooo?

oellIOIOOOO
e J0:0000000ODDOODODOODO
e J0:00000O0O0OOO MCMCOOOOOOOOOOOOOO
oo
® ROODOODO package
e 10:0000000O0O0O0O0OOO package DOO
e 0J0:000000ODO
® “BUGS” O “Gibbs sampler” 0000000
e J0:0000000ODDOODODOODO
e JO000DOOODOLODOOODOODOOOO

e 0000 “Gibbs sampler” 0007

kubo (http://goo.gl/76c4i) 0ooooooooo (2) 2018-01-24 24 /81




kubostat2017z

p.5

How to “sample” from posterior distribution
Ooooo MCMC oOOoOooog

oooog MCMC
-.0000000:0000D0D0ODOOODOODODO
MCMC
e 00000C000O0000O000O0: 00000
-.0000000D0DODO: D0ODOOOUDODDOO
MCMC

e 0000 (DLOUOODOLUOO)ODOUOODOOOOD

kubo (http://goo.gl/76c4i) 0000O0O0O0oO (2) 2018-01-24 25 / 81
MCMCODODOODODODOOOO How to “sample” from posterior distribution
. .
00 : Gibbs sampling @oooooooooo o)
McMmc A 0000000 B O00000O0
step | r
1 e 0 °m \L 0 °m \L
RERS MR
L ° 1o 13 20 22 24 F° o« ot omz ' obs
34567 34567
step r
2 0 °m \L e 0 °m \L
NERE R e
P ° 16 18 20 22 24 P ° ooz | 002 | 006
R R
34567 34567
step r
3 I e o S )
Joo% Too%
e Ts 18 20 22 24 e E
R b o) R
34567 34567
kubo (http://goo.gl/76c4i) O0oOoOoOoooo (2) 2018-01-24 27 / 81

How to “sample” from posterior distribution
oboooooob BuGSOOoooooog

T—4 Y[i]
BFHBEDIEDEEH
BuGs oot
1857 .
dbin (q, 8) for (i in 1:N.sample) {
Y[il ~ dbin(q, 8)
R o ¥
A q ~ dunif (0.0, 1.0)
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Spiegelhalter et al. 1995. BUGS: Bayesian Using Gibbs Sampling version 0.50.
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e R core team 0 000 Martyn Plummer 00000
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JAGS O RO “0O0OO0O” oOoOooo ROD JAGS OOOOOOOODOOOOOO (1/3)

library(rjags)
/ N library (R2WinBUGS) # to use write.model()
ERDMHSD
SYYILYYTI model.bugs <- function()
Trace of betaf1] - Density of betal1] {
ETILOBEE - for (i in 1:N.data) {
—_ Y[i] ~ dbin(q, 8) # 000000000
T — T s 0 W00 Bonavian2o0ire 3
l ;{5 X — 9 —_ 4 N Trace of beta[2] 2 Density of beta[2]
OG- . 4 q - dunif(0.0, 1.0) # q D00D0OOO0ODO
) A o] N }
S )= Ssbo o0 a0 5 4 5 b6 7 b
-U- J 7 J J ﬁ Iterations N =3000 Bandwidth = 0.08514 file . model <_ llmodel . bug . txt n

OE=
Input Output
# 0O0O00O0......
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write.model(model.bugs, file.model) # OO0 OO0
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ROD JAGSOOOOODOOOOOOOOO (2/3) ROO JAGSOOOOODODOOOOOOOO (3/3)
load("mcmc.RData") # (data.RData U [0 mcmc.RData!!)
list.data <- 1list(Y = data, N.data = length(data)) # burn-in
inits <- list(q = 0.5) update(model, n.burnin) # burn in
n.burnin <- 1000
n.chain <- 3 # 000000000 post.meme.list OO0
n.thin <- 1 post.mcmc.list <- coda.samples(
n.iter <- n.thin * 1000 model = model,
variable.names = names(inits),

model <- jags.model( n.iter = n.iter,

file = file.model, data = list.data, thin = n.thin

inits = inits, n.chain = n.chain )
) # 00O
# DO0ooodo......
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o Gelman et al. 2004. Bayesian Data Analysis. Chapman & Hall/CRC
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Gibbs sampling - 0000000
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000 {r,} 00D0O0O0 sOD0OO0O0O0OOO

ns=1.0
/1 \s=15
——\
/B 5=3.0
T T T t T T T
6 -4 -2 0 2 4

e sUOOOOOOOOOOOOOOOO

e 000 sO00O00D0 0O0O0DOOO (non-informative prior) O
oo

e J00D0DDDOODODOO 0<s<10*0000000000
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How to design hierarchical models
Oodooodo: ooooodono
00000 - 000O0OOOO0ODOOODOOOO
T—4 BFENSS
Y[i] &R
. CENH BNOEEE
Hereiesk Alile—r[i] <
ERIDMA
SEELBEOI T g QZ?Z;@ ﬂEW;%(Q
» ~ 4 5D
mIEHRE\FDM .
(B=r127R)
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5. 0obooboobonod

How to use JAGS sampler?

RO 0000”000 JAGSOOO
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JAGS 00000 0O0NDDOOOOOOOOoO
> source("mcmc.list2bugs.R") # 0000000000..
> post.bugs <- mcmc.list2bugs(post.mcmc.list) # bugs 000000
3 chains, each with 4000 iterations (first 2000 discarded)
80% jptewyal fpr egch ghaiy Ryhat,, medians and 80% intervals
N 0.0
g 001
a0
-0.0
-0.0
10
ST M h W R
*'PS ?'. j ”.?’.. V‘n' e ?" it
-10 12345678010 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40
35
i = : 25
* afrgg trihcated fOr Ik ofgpggg 2+
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Trace of a Density of a
o ,
) ] o ]
© 4 S 7
o .
> ] o
T T T T T T o~ T T T T
0 200 600 1000 -1.0 0.0 05 1.0
Iterations N =1000 Bandwidth =0.06795
Trace of s Density of s
e ] ©
<~ c
<7 ! o 1
N T T T <1 1 T T 1 T T
0 200 600 1000 2.0 3.0 4.0 5.0
Iterations N =1000 Bandwidth =0.07627
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O0O000O0o0o0o0 BUGSOOOOOOOOd

model
{
for (i in 1:N.data) {
Y[i] ~ dbin(qlil, 8)
logit(ql[il) <- a + r[i]

749 BFENSSE
Y[i] IERE

}
a ~ dnorm(0, 1.0E-4)

ZIESM EmoEEE
gk dlile—rli] <

o Enp ki
for (i in 1:N.data) { SEASEOITY ) g e S E%ED
r[i] ~ dnorm(0, tau) EERENDT #oos
} tEIRFRTD
(BERS )

tau <- 1 / (s * s)
s ~ dunif (0, 1.0E+4)
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bugs DUOUOOOODO post.bugsU DD

e print(post.bugs, digits.summary = 3)
e 00000 9% 000000O00O0OD0OO

3 chains, each with 4000 iterations (first 2000 discarded), n.thin = 2
n.sims = 3000 iterations saved

mean sd 2.5% 25% 50% 75% 97.5), Rhat n.eff
a 0.020 0.321 -0.618 -0.190 0.028 0.236 0.651 1.007 380
s 3.015 0.359 2.406 2.757 2.990 3.235 3.749 1.002 1200
r[1] -3.778 1.713 -7.619 -4.763 -3.524 -2.568 -1.062 1.001 3000
r[2] -1.147 0.885 -2.997 -1.700 -1.118 -0.531 0.464 1.001 3000
r[3] 2.014 1.074 0.203 1.282 1.923 2.648 4.410 1.001 3000
r[4] 3.765 1.722 0.998 2.533 3.558 4.840 7.592 1.001 3000
r[5] -2.108 1.111 -4.480 -2.775 -2.047 -1.342 -0.164 1.001 2300
@O
r[99] 2.054 1.103 0.184 1.270 1.996 2.716 4.414 1.001 3000
r[100] -3.828 1.766 -7.993 -4.829 -3.544 -2.588 -1.082 1.002 1100
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e post.mcmc <- to.mcmc(post.bugs)
e 0D matrix OO DODOOODOOOOOOOOOOODODO
o ... goooooo0oooooooboooooooooa......
UN'),
o, [}
N e
o [ ]
ooooo =1 \®
oooooo S Oe ~°
O—(q_ o0
ol .
° [ ]
o
T T T T T
0 2 4 6 8
oooooooog
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statistaical models appeared in the class
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individual effects + block effects
Ogo0oooooO: Oo0o0oooooodod

e JO0UODOUODUODODUODUODO gy, OOO0OOO0OOOODOO
oo
« 000 1000000 10D0OUDOODO (DD 10000)
« 000000 (f;=C)50 (00 5000)
e« 0000000 (f;=T)50 (00 5000)

kubo (http://goo.gl/76c4i)

oooooooooo (2) 2018-01-24 63 / 81

individual effects + block effects
odoouooooooobobod

> d <- read.csv("dl.csv")

> head(d) eid0: 0000
id pot £ y {1,2,3,---,100}

1 1 AC 6 epot 0: 0000 {A, B, C,
2 2 AC 3 L n

33 ACH9 ef0:00:000000c,
4 4 AcC 5 a0 T

55 AC 0

eyD:000 (DODOD)

6 6 AC19
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6. 000000000000 0O0OOOO0O0

individual effects + block effects
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00000000000000000000 individual effects + block effects
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oo)
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e 0000000 (f;=T)50 (00 5000)
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100
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e plot(d$id, d$y, pch = as.character(d$pot), ...)
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individual effects + block effects
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00000000000000000000 individual effects + block effects

(DOoO0OO)obooboobooboo
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individual effects + block effects
GLMM: D00O000000000000g
> library(glmmML)
> summary(glmmML(y ~ f, data = d, family = poisson,
+ cluster = id))
@)
coef se(coef) z Pr(>lzl)
(Intercept) 1.351 0.192 7.05 1.8e-12
fT -0.737 0.280 -2.63 8.4e-03
().
e JODODODOO?Y
e JUDDUODOODOOOODO?
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000000000 0O000O0O0D0OOOoDoo individual effects + block effects
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® plot(d$pot, d$y, col = rep(c("blue", "red"), each = 5))

e JU0UOOO random effects 00000 OO ooood
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individual effects + block effects
GLM: O0000O0O0ooooao
> summary(glm(y ~ f, data = d, family = poisson))
(@)
Coefficients:
Estimate Std. Error z value Pr(>|z|)
(Intercept) 1.8931 0.0549 34.49 < 2e-16
fT -0.4115 0.0869 -4.73 2.2e-06
(0. ..
e JOO0ODOODO (f)0000000D0O0ODOOODO?
e AICOUUOODDODOOODOOOOOOOOO
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“ROO” ODODO! Use JAGS!

«-ROODODDDODO GLMM OOOODOOODOODOODO
goood

e library(glmmML) U glmmML()
e library(lme4) O lmer()
e library(nlme) O nlme() (DO OOODO)

-.0J00 000D0C00O0DDO GLMMOOOOOOO
U +0000boooboooogobogonbooo
000 (D00D00O0o0ooooono)

-JO0boobobo0bobbobuonoboobon
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individual effects + block effects
Oo000o0o0oOoOooOooooobOoOn

F—4 F—5 (L)
SEEOEFHRYLME  MHELE Fli]
P HEARGHE

/ rp[Pot[i] ] <.
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000000000000 00000000 individual effects + block effects

000 + 0000000000000 O00 BUGS code (2)

# 00000000000

a ~ dnorm(0, 1.0E-4) # OO

b ~ dnorm(0, 1.0E-4) # 0O OOO

for (i in 1:N.sample) {
r[i] ~ dnorm(0, tau[1])

}

for (j in 1:N.pot) {
rp[jl = dnorm(0, taul2]) # OO OO0 (DOOOO)

}

for (k in 1:N.tau) {
taulk] <- 1.0 / (sigmalk] * sigmalk]) # D00 0O0O000O00O0O
sigmalk] ~ dunif (0, 1.0E+4)

}

# 000

}
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individual effects + block effects
ol + 0 oooouooooadg

e 0000 logOOOOOODOO

e 000DDO log(\) =a+0bfi+ (000) +(00O0DO)
. 0000000
e D0 el £000b00000000 (1)

e JO000OODODOOOOOODODOOOOO ( Ol 10 o1, 02
jgoog
e 0000 ¢, 00O0ODODDOO ([0,10YD0O0ODO
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00000000000000000000 individual effects + block effects

000 + 0000000000000 0O0 BUGS code (1)

model
{
for (i in 1:N.sample) {
Y[i] ~ dpois(lambdalil)
log(lambda[il) <- a + b * F[i] + r[i] + rp[Pot[il]
}
# 0000000000OO00OOOO0OO0

e JOUODOODOD fe{c, T} 00O0DODO FIAl1 O 0, 10000
od

e Pot[i] O 1, 2, ., lo00000oo0oooboooooooooo
00000000 rpl...] OOOO0OO
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00000 (DOoOOo0OO b)ooooo?
mean sd 2.5% 25% 50% 75%  97.5% Rhj
a 1.501 0.529  0.482 1.157 1.493 1.852 2.565 1.0
b -1.016 0.706 -2.436 -1.476 -0.993 -0.565 0.395 1.0
sigmal[1] 1.020 0.114 0.822 0.939 1.014 1.089 1.265 1.0
@)
gooooooooooooooboooooooon
goooooooooooooooooooboo
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individual effects + block effects
Oo0oooooO: Oo0oo0oooooooo

L.oboooobobooooooon
2.00000000000D000D00 (GLM)
3. 00000 GLM

4 MCMCOOOOOOOOO
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individual effects + block effects
Oo0ooooooooooo!

erandom effects 00 DOODOOOOOOOO
oad

erandom effects 10 0000000 DOOO fixed
effects 00000000 0D0OO0OO0—000DODOO
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